~-TEs7V

MATH 198 o o
O, . .
)""‘10&& x*e30 _ A . B+ S
X (Ot -J,)J~ X (%-a)? x % -, x>
rano = A=)ty Bx(x-2) - CX
x=zA: A = AC e=id
X=0 " 20 = 4A A =5
At caed, ! it = A+8 = 5 +8 a--%

45 -5 - 40 _ 4

HhXx < —
& 2
5 5 a5 35 45 S +
o axmfels £ L 2L
x+6 3 ol A4 3. A 5
u v

@ Sx-lju«.—ixdx 5(;—; )(‘J‘Cgﬁgx + ZI_XS\NS)( {-i o= 3X *,‘C) P )ﬁ'l @
9 117 S \
aAx
a ’\_-c‘? swe3X
Q \Q L

L gy oz sis3xdx

@ Leim u s X7

Vo= -—;' cus3X

du=z axdX,
--‘;&‘lcggsx .-(-3‘-) 5)(0155)( dA

les"‘sKL\K -
’
- e ou=x, =
Lgiusx

.1—( '
“x54u5x~-—§5|ﬂix‘:\x] du=ax, ¥ =3

LR

—55. Co'.iBX-rj\-s
T P
__(‘36:;53)() +(_l

1 1 -+
(‘3& Co33XK ¥ .a‘- X SN 3K — 5
w3 X v = CuSSKf-C’J
EN |

(1%

J

= \—‘— Mras3x + ic"- P

3
L Ww=oX =y, ucl
@ s = A X et u:f): , e X =
dx =2udu x=3, ui3
X 4t |
]
3 3 ‘ e
fi = b u = % - )au <
. u ';,udu = & u**’i e Ll u"'ﬂ u-‘_t’l
ut e t ' —
'
£) G ) ~
~ — ~ ThAN — - T - B _
- a u-TﬁN-‘u} _J\(\G-Tﬂ 3 (+ A n]) Q( (54 —a T
'
-
@ S L X JX wel U:LHK, a.\l-'—'x dx
Y
= . L oo - —
) X L\t.l- B_c\K‘ &
€
L X § N v Y
T < T X = = o oEm T - =1\ - —
[ * "] "( e C)*(c’ ‘J e

{(siaCe Leg =



MAYVH T 6 Scputians — TS50 <h

) oa T P 3 v L - A L 8
‘J‘ dx = L1 S Xy 3% X axte3x x (2% +3) x 2%+3
axt 3% T oSy )« 8X
3/8 2 = AQax+3d) «
T L 8 xz0! qa=3a Az
= kv (-—— - -—é)éx X csaiF. L 0 =2A¢8 6:—-3
T e X A%+ -
313
e ' - )AK —L\l\/\+ LMX LN(-U‘{.B)‘]
e 3
= L 4’5 (x %43 T = %%
’ x . M4‘(L“——‘LN—/£-)=+(L“J§'LNIQ
= L A (em '—_') i e 0 ' \‘ I
T — 2X+3 3’8 T —oa o A L _/’J;_ =4 s
‘ the
T \ o LM e LN
{as T = cO e - - 3 ™ a3 Y
=2
T =T, avzseCTdV
® STﬁcc.’\rA'c Let 2 —
:Al‘, o= Taat

- uz Cedil U"'—_._:..NT’
S
CTANT -jI'ANT'AT = T TANT - ] - AT e —1

ces v
= TTANT + j‘g AT = tc‘l‘m‘t + N [T+ C_) =T TAnT — t~ (secT| +c’
cn)
) T )
£(x) = X, q=\ n T (a) n!
'F‘(x): -:: = &t aQ 0 0
\ )
'F"(x): _ -3 .
- -
'F“‘(K) = _-,\K..B R \ .’-1 - i
£ Gx'l" ’ B P ¢
x) = - _ Y - _ &
(x) 4 6 I s e
P ( v )-’- s 2 A 4
\,‘_\x)z(x-—l) -5 (%= +3LK-') -1_(’\"")
2% -2 A . B8x+C
LK*-")(K-LTq) (xe2) (X +9) t+ +
a4 % 2t =A(K-1+qj_|.(_3K¥CJ(X+-l_j
Xz =& ] —b65 = t3A A=z=-3
Xz 0! —al = GA+2C = -F5 £ AC ac =24 cEds
5()" caerF, | o = A +x6 & =5
_ 5% _dX
-5 5X ¢ 1 - as{ 4 dx v | 3 dX -
S( X v ) 2 .a )dx T j”J—fq x4
+ 2

. dx
= ~Simixed]| + 2 5@_5_. dx + HSxJ_ 8

) ¢4

5_ N .l_—- -l.\.g_
= -J'Lwlxq--ﬂ-t-z L ) X *.ql 4 W 3‘ 3)

o o) e J
-

W




SnL-\-\—;dNﬂ —T_§T J‘

Math T8
(i)-i = th‘{"‘ =6 TSR 2 |
b 1 ’ ‘
: x> = = X"y 0 Y =
S.L d-Y=5|ox.JX _7=3 + C ey
1&
c-5(4)*0O 30 O= '-Z—-‘ AnD

]
Jqie Y= 6 waneN =2, G

\j - "_-1_‘ 5% k- l-u—Box"l"

A
() xy' v af = 5x+3
Y ~/‘¢."i1=l5'+—:;

) w) - e IE M - (=)

(xv)" = 15 x* - 8x
2
A K*{:S(JK**&&)A*:S"&*‘%K*C'

— <
U = 55X v 4% + —
X =
— X
)\ -2x 6o e =% u=3<5€
jex 5 ety e 3, 5e-rX u/= —roe-

60 5 e x =L—Gwl-3*fe""‘|+cj =|:faw(h5c"“")tq

@ 3 ¢ 5e~t* 2X
(5!4{.& 3‘?5‘&‘ %) Fra Auk. A)

@ LeT u = Cx se X T w4 dk.:t'.- du To Gev
Go | ‘o = Gy du = v - i“u JAU  S— (asi~nGE

—_— . - = - rY — - e .

Tates " (5u“+s-) L 30" +5 PalT. a i—RﬁrChoN_)

ax
almlul - b |3utas] « C = laN e Lewn (38705 ) 4 C

L&_—GLMCSC +D)1—C'

i1

i

7 =z : ; : )
Lel” ‘-}_—e da x=;"{LNU 3 dX'—'I-:‘- du Te GeT
‘
_.Gd ; ! oda = .._.30.....-_ dg = S & - g )clu e (usine
3a 5 au u3ars) bl 3uey PART A L FRA—CTTQMQJ

= bmlta| mgul3ues| +C = 6N g™ _GLH(SC'“‘*;,").‘.C

= g(ax) —ew(3¢ L 5) 4 C (1A — 6N (Ee ) “ﬂ

T ———




